Assignment 1 Analysis by DYMO

Compute response of a model bridge (shown in
DYMO) under 3 bearing support conditions; 1)
supported by steel fixed bearings, 2) supported by
elastomeric bearings, 3) supported by lead rubber
bearings (LRB). Compare resposes under the three
conditions, and clarify the effect of period shift and
enhancing the energy dissipation capability.
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® Analyse Example 2 shown in DYMO
(Example 2)
®Impose JR Takatori Record, NS Component.

® Assume the folowing stiffnessses for LRB.

kg =25,500kN /m Qg =1275kN
k2 = 2,550kN /m



